ne33 drd =8 B38-20-21

1) 20 &I HF° teedd ) 30N wotd PN S0B3rTeweN.Boresdd
WRBUITBATNDDHITD.
(@) ovg (D) ertw (J) d)eﬁ% Adenr (B8) IS0
2) 7-10 JIMFOBTT d)c_%?;‘)omd)
(@) 9(D)10 (D)1 (&) 8
3) 20T B30WT BT 6cbe BN 4che BVZTOT FTHW LLOLLTTIWRDBT e IHabhd,
@ﬁ@(ocb e 28ce eV VW HLoEDTTBTT ripeRTH OS3 chT’&)d ?
(@) 42m (D) 21m () 12m (&) 45m
4) (1 +cos6)(1 — cosh) 1t SDHTeDHX)
(@) sin*8 (D) tan?0 (D) 1(B) 0
5) 4x?2 —4x + 1 =0 0D IDe3TRT TS
(@) -8 (D) -12 () 32(8)0
6) ax?+bx+c=0 TDEBTEITD b=0 BTWT &3 TFeeBTEID)
(@) D3I, SrirBcDesses (D) DY SREDDEBTE (D) Tesrod,8 Fesses (B) 985003
BVDEBTE
7)) (2,3)R) (4,7) VoYY, FedDS FT¥Tearoa0B8a BP0 BoHBAO.
(@) (35) (@) (7.3) (%) (3.4) (B) (8.3)
8) BweLOWANOT (p,q) VDODIN DS Bed
(@) > @) Vp? =% (3) VP2 + 2 (B) a*-p?
9) 5 0. $RDY 833 F B PAY P DoAY B)BBY, B BEDTTH.0 BeoBB @wewd
Bord Q VoI, BoPBT.0Q=12cm BT PQ VG ),
(@) 12 Fo.<e (D) 13 Fo.<de () 8.5 Fo.cve (B) V119 Jo.cve
10) B B B3 Dowd D) Sy Beodrt dTeey Broed
(@) 30 (D) 180 (&) 90 (8) 60
1) 8330038 SROT TITW TRETD 259
(2) B2 (&) 353 (%) 80w () 300
12) 2x+3y=9 DF) 4x+6y=18 B VBTN peBALR) IFARTTY B3IBITeN
(@) 3eDDIDY () eIDDBS (D) 2BTRPBS (8) DedI cdrdde e
13) A0 JBYTeBRW Sr0080meNGT DBebedTearts e
() B0BTIY (V) I, BOBITIDTE () VP03 SO (B) APFTe V)
14) a;+byy+ci=0 DI axx+byy+cy=0 KBed Tearod, 5 JFesTes Z—; * Z—: 333
ey

H B METIL GHS GOJANUR 1




(@) BebesBendrt B0HCIDZYDY (D) BeDedTENH WS, BOTITVIRY, B DD
(?) Bwedh BOTITRYRY BeeBDHTS (8) @B Sosoh BOBTTRYR), BeOES
15) 2,08 J2030 F)eB0dh n e BB ap=24-3n ST, TeBob 2 e T
()18 ()15 ()0 (&) 2
16) 3 14 Fo.che AT 2,00 1ReVE TpeE e, AJeee
(D) 2464cm® (D) 154cm? (D) s8cm?®  (B) 616cm?
17) BoBAIR DY BT ST, doeej% QARREF
(@) m(ry + )l (D) w(ry + )R (D) n(ry — )l (8) (lry — A
18) 12 =712 + h? 530 h S 233
@) +VIZ—12 @) +VrZ—12 () +VIZ+71Z @) +Vi—-1
19) ATR BeeRNW Torte ATR) RBNW JDIDS Shed
() TDeed Seha (D) eTTed Sehes () SDYI® b (8) Wreyde we)
20) BYNIJINYE odredde SnFhessase)
(Q) x*+2x+3=0 (&) x+12=0 () 2x*-4x-8=0 (B) WP WO
21) Y fx =225 Y f = 25 33 J0910 ------- Zlal]
(@)10 (@) 2(J) 25 (&) 225
22) 2,08 BB0IT FTIO D) WBVB BhaveN 62 D) 52 BSTT & BZ03TW Y038
oR),?
(@)s85 (D) 62 () 52 (&) 58.67
23) 8 B®03NY d)masoé FoRHBANO :14,18,10,12,19,16,9,13,17
()14 (D) 19 (d) 16(B)12
24) QeZRHEHB DVoD(BDD) g3 FesdNod aBTBOWIN BydTesd g3 Fesfadeodrt
PUOEDTTIRS BReII)
() vouBReS (V) BBIBBRES (d) VP BERES (B) BB BpeS
25) 200 OBTA reeYTY) 30ce HVTEH FTYRY, GVOLVTTIRDBE BN VRAFIHT HLOEIT
BRe]SR) 60° B8TBT feexTE O33
(@) 30V3 e (D) 15e (D) % e (8) 15V2<de
26) A=30° &8T3T sin 2A 1f FDHTTR)

@)% @)% (2)% @)

27) sinf B 1O 3 0°<H<90°

15

@ % @)T @)1 @5

28) QT RDZE T99I8 TFod MY Mieaes) 12,800 ST oS Fevd

H B METIL. GHS GOJANUR 2




(@) x2+2x-12=0 () x*+x-12=0 () x*+x+12=0 (B) x?+2x+12=0

29) BrrScHesTHT SWVNW JF D) DSBS BYNIZRYY adreIade IO
(@) 450 () 4<0 () 4=0 (&) 4<0

30) ABC 3hed Bjonnwy o3desrand8wmeNgd & Sphad Aerd)
(@) 10 3BT e (A) 12363 e (D) 0 BT e (8) 2 BTV S

31) AB 8ea5e8033 Eﬁoz;ié?f)oc:i) P &AT.P oD AB demsoocsdai& 0yo3 ORDTIBTY
QFNDIT.
(@)1:1 (D) 12 () 31 () 12

32) X-y=10 Be3VHBO x=13 8T3 y S 233
(@)-3 ()23 (d)3(8)-23

33) x+y=10 D) x-y=2 RBDeSTeY B0F0 --- 3NT
(@) (2.4) (D) (4.6) () (6.-4) (B)(e.4)

34) AABC 0bQ D @A) E N AB D) AC DF0DNRTeBT AADE 0 e
(@) 4AABC (D) 4AABC () 2AABC (8) LAABC

35) JIDBReed SrhRnY TR WM
(@) ID (V) FS0033 (]) DTS (B) I

36) AT B3RS SHRNY DBYVS DHBDY) 4:1 B8BT OJYNY IQeFNY DD
(@) 16:1 (D) 411 (D) 2:1 () Vi1

37) 5 0. WIBAIR JNET BEF YUY
(@) 5v2 So.ve (&) 25 Fo.<ve () 10 Fo.cde (8) 10v2 Jo.ve

38) x*+6x+k=0 SMFRDe3Te BWVNW JDTRT k < 23e30dw
(@) o (@) -9(d)s(&)s

39) JS70033 FeBobY) Teros; BB 3 SV B3 1 8wen Fead 10 e IBY
(@) 27 (D) 29 () 30 (&) 28

40) 2x+1,4X,13-X Q%) V0033 F)eBohOTT TormodT x & eJeIodw

H B METL GHS GOJANUR




